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General Knowledge
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There are 15 questions in all in this Section. All questions are compulsory.

1. fasfie @R @R oFa e T 2

) Ao B) T
(C) SIS | (D) ST |

- Which one of the following is not applicable to human ?
(A) Autotrophic | (B) Omnivore
(@] Heterotrophic (D) Carnivore.

2. FeTF @9 =¥ @ FOifEie wew Gt 2=

(A) foGI™A D -~ (B) fobI™E C
) foBIR= K . Py TeuiRE A |
Night blindness is caused due to deficiency of
(A)  Vitamin D - ' (B)  Vitamin C
(C)  Vitamin K (D)  Vitamin A,

@ oI ST 20T, e R PR I 2

A)  FIfEEEETs (B)  woify

of  cofes pr e
If you have caries, whom would you consult ?

(A)  cardiologist | (B)  Orthopaedics
(€ Dentist (D) Neurologist.
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4. QIEE (O (T oD 7
(A) T By  SCUET
(© e (D) SIS
Kangaroo is the national emblem of
(A) Canada (B)  Australia
(C)  Ttaly (D)  Ireland.

@ Ty fPoT (9w todt =9 2

(A)  CTCT By TR (R wR

© = (D) (e

By which the food tofu is made ?

(A) Cocoa , (B) Soyabean milk curd
(&)} Curd (D) Coffee.

© ¥ R TSRO B F

(a) MRS A (B)  ©FT &R
& IR AT @) / & ER

The deepest lake in the world is |

(A)  Red Sea _ (B) Dal Lake

(C)  Caspian Sea (D)  Lake Baijkal.

<. @ FATR o7 ATCS 2

| (A) TP (B)/’ B
' R D) P

Which mammal lays eggs ?

(A) Dolphin _ (B) Duck-billed Platypus
(C) Whale (D)  Dugong.
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(@) L Csﬂ"ilaﬁllﬁl IR B (D) G QIte™ oM |

Who is re S )
garded as the principal architect of the Constitution of India ?

A B. N.
(A) N. Rao (B)  Dr. B. R. Ambedkar

C . .
(C) N. Gopalswami Ayyangar (D)  Dr. Rajendra Prasad.

ﬁﬂﬁfwm@ﬂﬁawqmm@waﬂ?
(A) NP ' (B) BTE?P‘CW

N(~ g Gl D)  foorafzan

Which of the following diseases is not caused by bacteria ?
(A) Amoebiasis (B) Typhoid

(®)] Cholera (D)  Diphtheria.

‘Rerame’ facfa [Rge 3@

(/)/ LU R B TR
I < [

C)  wegreEeR R WY i o
Big-Bang theory explains

B origin of Sun
(A) origin of Universe (B) g

. (D) origin of microbes.

(€)  origin of gravitation
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T yeesta Slgel wion 2y cifb arar o1l =1
(A)  IENEE (B) 3w
(C)  sifetars Jp] P |
The intensity of earthquake is measured by
(A)  Barometer (B) Hydrometer
(C)  Polygraph ‘ (D)  Seismograph.

12, AfeIdt sy 5 37 2

(A) N T IQ IW AB)? Ao Sirel I AW
(C) s Fo1 I@ TN (D) e TR I

- What happens to deciduous trees ?

(A) Lose their flower in summer (B) Lose their leaves in winter

(C) Lose their flower in winter (D)  Die during winter.

@:) =q (ord W REeE @b IREe 2 2

A oI SO
G)//:&ﬁam (D) RGN
Which can be used for biological control.of mosquito ?

(A) Puntius . ‘ (B)  Rohu
(C) Gambusia (D)  Bata.

14 K?WﬂqquﬁmaﬁmqﬁﬁﬁMCﬂmiﬁPﬁ%Cﬂ%iﬂ

(A FenEer SIRCTETNNRE NETGERELIEL RS e —"
(€ TRz STRETTHHRS (D)

W e S A R, L

RELGAL i S
Bh‘opal gas tragedy was caused by leakage of MIC gas, which is
(A)  Methyl isocyanite (B)  Methyl isocyanate
(C) Methyl isocyanide (D)  Methyl isocitrate.
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15, (&R N2t s 9 ¢

Ay e

(C)

Which of the following is not known as greenhouse gas ?

(A)

(€)

A TRIAARG

Methane

Carbon dioxide

e e T Y

(B)

(JZ){QTE@KWI

. (B)

(D)

192 |
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Nitrous oxide

Hydrogen.
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Section - II
Current Affairs
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There are 15 questions in all in this Section. All questions are compulsory.
SRR T . TP
tlsq” S serir B) & wm= ey
9/ B (ST (D)  CN® *fBp |

The book Playing it My Way' is authored by

(A) Sunil Gavaskar (B)  G.R. Viswanath
(C) Sachin Tendulkar (D) Sourav Ganguly.

17, STe SRPIRT QA IR I00g Q0@ w31 fof 2w
(A)  STSUART (B) Y@

,qe)/ IREIEEI (D) ™R
The ministers of the State Government are collectively responsible to
(A) the Governor (B)  the Chief Minister
(C) the Bidhan Sabha (D)  the Speaker.
(A) 1901 3¢ UBC 1905 A1
(© 19107CT \a!) 1911 7T |
The British team was defeated by the Mohun Bagan Club in the year
(A) 1901 (B) 1905
©) 1910 (D)  1911.
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(C) : (D) A

Which of the following is tropical monsoon crop ?

(A) Paddy B Wheat

(C) Bajra

(D) Mustard.

20. fee s@fEe

..................... (oY |
| MR B) <ol

©f [Amgw (D)  CafoE

Viswabharati is situated in the district

(A) Purulia ' (B) Bankura

(@] Birbhum (D) Medinipur.
21. (T AW AT (T PRA ?

a) R W B) fNew oW

oy = oW (D) = G|

Who is credited with the founding of Kulinism ?
(A) Samanta Sen (B) Vijaya Sen
(C) Ballal Sen (D) Lakshman Sen.

22. B (Y CIETA ST Y@ RET O =7

A" e (B) Tl
© . 3 O =
Dhyan Chand was associated with the sport
(A)  Running (B)  Football
(C) Boxing (D) HOCkCy.
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A8 NG (@I o *fe o

By G fayre

(B) 1% fage
(C)  ornefas fpge (D) Coit@Tferary
Which one is the renewable energy ?

(A) Solar power (B)  Thermal power
(C)  Atomic power ' - (D) Petroleumn.

, _
(A)  afe B)
(S B (D) WREE|

.Gatidhara Prakalpa is introduced by the Government of

(A)  Odisha - | - (B) Assam

(C) West Bengal ) (D) Maharashtra.

@5. T, 2014 (3 @AW TRIIEE (@ V8 AR (eIt AT (ADB) QTS O S11-q

(A) AP STOCLIE (B)  fdem SrorarA
oy o e - (o) YT

On June, 2014 which minister of the Central Government has been appointed as
India's Governor on the Board of Governors of the Asian Development Bank (ADB) ?
(A)  ‘Prakash Javadekar (B)  Nirmala Sitaraman

(C)  Arun Jaitley . (D)  Smriti Irani.

26 ﬁf@WﬁWWWNfﬁ@CﬂWNWWW@ﬁ

& s : (B) W (N Se@
(C) o (A SR Mﬂﬁw ot
The earth rotates around its axis from

(A Norh 0 South (B)  South to North
© Bast 10 ekt (D) Westto East.

| 10 of 20
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RGN agcE)
(C) By cTerfer e

(B)  Derozio

Mother T ,
( : eresa (D)  Netaji Subhas.

| (5 (ferret erfediera =8 R
(8) TR IR W STFEbE AT
(X7 TEEAIR o (D) AT 7T |
The founder of the Bengal Chemical organisation was
(A) Nil Ratan Sarkar (B) Prafulla Chandra Roy
(©) Dwarakanath Tagore (D)  Alamohan Das.

WERA, 2014 (S WA Free fme Ao @R s @or I NI TG FECR ?

Ly ST smcse (B) TSP SRIG
(C)  Terp¥ QP (D) R o |

In October, 2014 the Urban Housing Mission has been named after which of the

following national leaders ?

(A) Sardar Patel | (B)  Shyama Prasad Mukherjee
(C)  Subhas Chandra Bose (D)  B.R. AmbedkKar.

g >rerer SiRRAPITE 24w Gl 2t

A 3R (BL— e

) = (D) arfer

The main occupation of the people of the Indus Valley Civilization was
(B)  Cattle rearing
(D)  Trade.

(A)  Agriculture
(C)  Hunting

f 20
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~Arithmetic
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o a2 Reeet (5 15 f oy S| 7 o Wi |
S There are 15 questions in all in this Section. All questions are compulsory.

31, 6598-4% O (I AN 1T (IS P I @y el AN I 2

\_Lm/'-124 : B) 116
(Q/)/126 | (D) 112

What is the least number to be added to 6598 to form a perfect square ?

A) 124 : (B) 116
6 C) 126 (D) 112
.
\\0;‘7

32. 30 fef/ae camwwaas%ci‘a?zl CTRTS @3 R afee Fae1, @A 0 '@

Y 6°(A 112-5 B (B)  140-5 B
W K | | |
l}

150 B (D) 132 e 1

\

¢ £ ’4’ If a train crosses a point in %z-sec moving with a speed of 30 km/h, length o
9 o ‘
} train is

2
) (C) 150 metre (D) 132 metre

33, (@R J%ed w727 A 1023 @R 750-(F ©1F IIET zmnmsr 3 @32 2 ST e 2

(A) 65 3/ 68

0
% © 78 7 1
What is the greatest number by which if 1023 and 750 be divided 3 and 2 are I
M ©  remainders ?
6
% t‘"\a (A) 65 (B) 68
2 (L (C) 78 (D) 11
|
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35,

36.

37.
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2 (@ 12-99 Nl QT T Meforg cqparepey =
A 26 7 55,7108,

N (B) 29 /
C
© (D) 28 28
Sum of the prime numbers between 5 and 12 is ‘
@& 20 . B 29
) 25 o 28

O R S% (N T 4% 26T @3 fq aftof RS 77 250 B I A1 @ IET &

T | Ll 25

% /. % O
(A) 22,500 5=l (B( L A E 25
JSY7 20,000 B (D) 25,500 5=

If rate of interest reduces from 5% to 4%, a man gets Rs. 250 less as his yearly

interest. What is the capital investment of the person ?

(A)  Rs. 22,500 (B)  Rs. 25,000
(C)  Rs. 20,000 (D)  Rs. 25,500
3 79-63 + 963-8 — x + 7-953 = 18:732 RH, O x- 4% A I 502, -8
‘ ' B 1063115 £2:62
(A) 1070-115 (B) | /3;255,
Sy~ 1032:651 (D) 979-214 (5- 731
If 79-63 + 963-8 — x + 7°953 = 18-732, then value of x is o 3
| 0
(A) ~1070-115 (B) 1063115 ( 5§
G/ 1032651 (D) 979214 /,,._—\_
( e g cb !
J90+0-09x10 -a% ¥ I
0
(A) 8100 B~ 100 7
(C) 1000 (D) 81000 o 96 1y
Valueof'f90+0-09><10 is @6
(A) 8100 (B) 100
(C) 1000 (D) 81000
13 of 20
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38. @2l asfewtan ofs @ 10% 3 S CRIEETR Mroa 9 2
W 10% ) 21%
(€ 25% (D) 100%
Il each side of a square be increased by 10%, the percentage increase in area is
(A)  10% B 21%
S sk (D)  100%

39. 9% I W2 S YR I (T A WO TG 30 I | @ G ¢ IF @ETH oW
TS 5 : 2 TE @ fea IR 750 |

(A)  423IW (B) 45 3%

Jb\” 60 2 (w( 50 %4

The present average age of a man and his twin sons is 30 years. The ratio of the ages

of the man and one of his sons is 5 : 2. Present age of the man'is

i

(A) 42 years (B) 45 years

(©) 60 years (D) 50 years

40. @36 A 25%, & 2™ 30% (I 15 I | K AANDI 20% IR |

LG —
M75 ( 60 A= o 15

-5 = x=
© 225 D 65 SLis 37
25% of a number is 15 less than 30% of g?number. Then 20% of the number is

44
(C) 225 (D) 65 \

] 564823 12T 4-93 A T @ WfGRe WAL ST 2
41.

(A) 16000 (B) 160

ef” 1600 (D) 16

The product of the place value and the face value of 4 in the number 564823 is
(A) 16000 (B) 160
(C) 1600 (D) 16
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VAR, o e R, LO_

ox 1
VI, 55 9™ @ad),

W\IT W Lﬂa\ W W\xf
% Wﬁxwmnﬂq@w\mmlzos ﬁmm
e = | -
(&) 10fo®R -
_ B 20 foR
((i/ 16 F6r D) 14 f%m

A pole is painted 1
3 P as 75th red, L th white, 310 th blue, J-th black, =5th violet,

—th yell
6o [ yellow and the rest green. If the portion in green has length 12:08 metre, length
of the pole is

(A) 10 metre (B) 20 metre
(C) 16 metre (D) 14 metre )0
| ' 5%
43. NI @F SN RIS 2 @ipzv‘wﬂ

‘{77/ 2. 1 (eqyf"-}//ugﬁ
42, B 4z, Lo
39 ﬂ F IOV

© 5 : 12 ‘bs

Which of the following fractions is the largest ?
1

) 43 B 4%
_ 47
(C) 39 | (D) 12

1

24Wﬁma¢ﬁwmlzﬁﬂmﬁlmwmsﬁﬂéw¢mm?

A 20 (B) » 40
4}(‘ , . T{ 36

44.

32
sons can dig a pond in 12 days. Then how many persons can dig the pond in

24 per

8 days ?

A) 20 (B) 40
© 32 (D) 36

: f20
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5. 3L > ey @ e (—1) oW A ?

(A) 1 (B) %

v -1 o) -1

By which number 3 is to be multiplied to get (-1) ?

1
A 1 ® 3

1
© - D -3

1
3
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